71D MRODN NIND .6

N9N AN NINRANN THD) INDN NINNDD 7ONY D MaY 790 NPYIIY IONT 4.4 Pyoa
POTY INDD DY L, MINN NNYAD YN 1IN DAY YTO OIIX .NYP XIN PY NINIY Tiva
DNRMINON DY APIDON NINNY D) AVYIVOY N1DI NIRNDD .Y HNON DX
PINS P90N 2PY aN) NPDI HNDN DY PNIND YINT DY DX ,AYNNnn OYTN1 0M1oNP)

DI NIXNDN DY NINAD MOLOY NNd P¥INT P92 (N3 IWPNL 2PN

NIIND NIANNN NOW 6.1
TPSPITINI 120 NI 1IN A7 ST Y 0 INADY 1779 - DIVY DIRYIN

MY NPNNTN YYD WNIY TY ,NINN MINPNIAN Y39V NN AWND T MDD NNDNA YHNY)
YTy DY NAIWND DIWNINY MINN NNNT .NNNDN NPTSN TINOY Y0DMIPN 2N 97 MY 20
1230 19NN PN MY (MOVRNND MNPITIN YT DY 2179) NIDIND ¥ HNDNA NITIN NANN
YOI DY WINIY 129102 190, I1NYID YIN 15511102 5510 11 NV 1INV DIVH NN

YT DY NIND M NYNRY 1IN 1N ,NPYA Y N3 NI07 MININIVIN NIND INND ,0pPNn 50
YN, TYNANI NNDY 29D 10 DY 1N N0V MDOPITINX NN 1NN NININ VIR
100 WININ NNINAT TY DIPNDI DIWIN? NIDIT XX NHON NN

DOWINTN DYTYNM 19D0Y 1IN PNND DTN NNV NINN 4.4 PyO1 7101 :6.1.1 Dt
: NN NOOIN NNDN T DY 1IN NNINAD
n>1939 h(n)=2h(n-1)+1 h()=1

19293 NPOIN HNONA IN YIDIY > by
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h(n)=2h(n—1)+1
=2[2h(n —2) +1]+1=4h(n -2)+3
= 4[2h(n —~3)+1]+3=8h(n-3)+7

1923 OAYI K NNDNA T2 DX YN OXY YN 551 1NOYPY 111V PIANI DX N3 10W3a
h(n) = 2"h(n-k) + (2" - 1)

8 TYn OX (1) = 1 XY NONNNN TV YNIY TY NNONA 871 PPYRNT 1NIVH
19293 ©Y9 (n—1) INOMI

h(n) =2""h(n—(n-1)) + 2" '-1)=2""h(1) + 2" ' - ) =2""+2""' - 1=2"-1

MY NVHNN TPIPITINI NDINT ¥ NYD ,INND h(n) = 2"-1 NN INOPN PNIND 0D
.32 DX ANY YY) 00N NNDN DY 119191 1ON

POIN NNON PIND :6.1.2 MYV
,n>1939 h(n)=2h(n-1)+1 h(1)=1
> 1955 h(n) = 2°-1 XN
N 2Y TINPITYINI NIYON NN NI NN
Y9N NN 9 5y o0 h(1) = 1 NPOIN NNON Y9 5Y 1PN ,n = 1 MPIPITIND 902
W) =2"-1=10"pnn
:POIN HNON O DY 1 -2 NI (n—1) -2 NI NI TPXPITHIND DY
.h(n) =2h(n-1) + 1
;92931 NNONA NG 83 h(n—1) = 2™ — 1 PYPITPNND NNIN 299 O9IN
h(m) =2h(n-1)+1=2.2""-1)+1=2"-1
0N MYvN NYONNNIN MNPITIND 1IPY 29 7Y 1971 ,10 -7 0) N0 MYLN I

n> 1935 g(n) = g(n—1) + 2n—1 ,g(1) = 1 NOIN NNON NNINI :6.1.3 NPT
12223 NNONA NIVIN NAND YT DY
g(n)=g(n—-1)+2n-1
=gn—-2)+2(n-)—-1+2n—-1=gnh-2)+4n—-4
=gn—-3)+2(n—-2)-1+4n—-4=g(n—-3)+6n—-9

:72P) MIVIN NMaNn kNN
g(n) = g(n-k) + 2kn — k*
:92P) MANN (n—1) MINND
g(n) = g(n—(n—1)) + 2(n—1)n — (n-1)* = g(1) + 2n*-2n—n*+2n-1 =n’
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(97 990 MY . SPITYNA NNY DN N2INY ¥ 9I0N) .g(n) = n° 199 XN INOWN PIN9

INDNN IMNN TXD YMD 5 53 5P TN XY MYNT .NPYI 110D NN 13 PNINI oY
Y1 NNONM Y99¥2 JN n 990N NNONN TIY ON 7MY .NININ 128N YW 035V k INND
9377010 NYYI INND NANNN TONN TN L{DM900 NYN INP X IN) INY DHVP DM9DN
IRNDN PN 90 MITIWNT MIDN MVIY NN YNNI IIWIN NP1 NP ONY

AN NP NI

oYnIn

YPITIND INPDIN .NININD NN ALV NININ NIPDIN NMNADBH NNN 95 1N .1
NDNN TV W9RN 11NN 1IN NIN DNNYNY PNINSNY 7PORND

n>0959 f(n) = 2f(n-1) ,f0)=1 .X
2> 195 h(n) = 9h(n-2) h(l)=1,h0)=1 2
.DNYYD D»WNHN 090N ab WX n > 0999 f(n) = af(n-1) +b ,f0)=1 .2

NN AP0 NINNDON 6.2

DII21977 , PN KO PNV NPINDS AP0 TINODD 11909 cN8VY OINYINN
TPIOINT ANNYNT , IOINTT

.DMDN NDN NHDI NIRNDN NAT DY WND NINIION NIINRN OINNN NINPIN MOYIWY
N9 YTD IND NINIPY NPV YONONY WOV DY DINNY WTNNN NI PYTYY OINIP
7920 1712 920V DOXP NI NPT WITH NIN J9IND AND Y921 ,NIDI NINNDN

AN INIY NIOIN MIRNDNZ NIINRN P2 IWPNN 1N ONT

NNON YPNe g: N>R Nm oyap 0»Unn 0900 ¢1.c.....c; P :6.2.1 1910

:1IINNND PO

f(n) = ¢ f(n—-1) + cof(n-2) + ... + cf(n-1) + g(n)
ODIN NNON IN g(n) = 0 ONX .OMAP DMTPN DY I 91010 NYINY NI HNDN NXIPI
PN NP

TIPOIN NNOOT IY DTN (4.4 PYD INT) YINNDY 900 :6.2.2 N1
1> 195 f(n) =fin-1) + f(n-2) ,{O)=1, f(1)=1
.DYIAP DONTPN DY 2 1TOR MINRIN MINOPY PO NNONY N

DY 3 9700 MIMNININ XD INOYD N0 HNDN NN NINAD NP0 HNDN  :6.2.3 NNt
:DYIAP DINTPN
n>2959 h(n) = 3h(n-1) + 6h(n-2) — 4h(n-3) + n* ,h(2) =3 ,h(0)=h(1)=2
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AN PN 0> 1939 f(n) = fn-Df(n-2) + 7 ,{0) = f(1) = 1 "»POIN NNON :6.2.4 NNT
N

DONIP DMITPN DY NPINMN NNINOPY NI MNNDI NIND

90N AW DNDN NNONND NIYNNNI NNT D) 11PND MDY NINNDY 1IN T8D
N 9012 NVIY NT2IY YNNI Y900 DY DITIN ANP 1NN NDINN PANT DN YINNIIDD
: 0PN N> 195555 ¥3A0 1NN f(n) > f(n—1) ©»pNHn n > 1535 9005 ;N5 NY1TONY

f(n) = f(n—1) + f(n-2) < 2f(n—1)
f(n) = f(n—1) + f(n-2) > 2f(n-2)

:93P9) (NN NN T BY HYND) NHNRN NNPNY->RA NN INSY HP
22 <fmy< 2!

11 -2 9959y 51T ANP MDY NPNPN T IY NV NOYRIN NNION f(n) MINPNoN ,ImDD
A(n) = X" -¥ 75 X YWNN 901D YINI 1MNT ID¥VN DI A8 ¥ f(n) -5 0) ONN PITAZ DO
1 TIDIN NNDNI NNY N

X'=f(n) = f(n-1) + f(n-2) = x* ! + x*2

NMANS X7 = X + 1 Y2 DNNYR 92PN X1 = X7+ X2 )0Mwn NN XM -1 DY)

: DN NINNYNDN
1445 1-45
T 2Ty

g(n)=x;' 919NN NITE 1M1 f(n) H¥ NHDIN NNDN NN DIVMPH NINININ NY JIN)
21977, h(n) = x5 N7TON D) 791 YN 90N HY NIDIN NN NN NDMPN

n> 1559 g(n) = g(n—1) + g(n-2)
.n> 1535 h(n) = h(n-1) + h(n-2)

oM Lf(0) = 1, f(1) = 1 NDNHNN 207y 0N DYPY IPOYY DX9DN DININ MNY 11D W OIIN
DXV ,NNY OV ,27 0'W) .h(n) NITON YT DY XD NI g(n) NITON T DY DRYPNN DN NIN
119702 1AM

u(n) = a;g(n) + a;h(n)

DI NNDM NNIN NBMPN un) 17TON D) IN,ONYYD DOYNN DOYIP NV a3, -Yd

.n> 15935 u(n) = u(n-1) + u(n-2)
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OV DX Y90 N0 LY .u(0) = 1, u(l) = 1 0y OPPROY TD a;.a; OOYIAP NNY WIN
:TINAT MINNYIN

0 0
I=u(0)=a,x, +a,x, =a, +a,

1+45  1-5
+a2

I=u()=a,x' +a,x. =a
() 1*1 222 1 2 2

122D NNIN 1IN 1NN .a;,a; DINYNI NPINODY NINNWVNA YNY DY NIIYN 1§

. 5445 . 5-45
17 > 2T 1n
10 10
:0»PNN N> 095995 10 DX NNEND

f(n)=ax; +a,x;

:5+\B(1+\Bjn+5—\5[1—\6jn

10 2 10 2

_Lﬂnﬂ_iinﬂ
U5 2 NG

119197 NAPN NN ,IINITLIN MI90ND NN NN IND PNNAY PIININ NVIYY NN N2
{900 LYoy TIY WA DIINID1n DIPNRA 0D GN) B3 APRIMIN NPINODD NPDI NINNDN
PNIDIN NIOI MNNDN PN 1T WO NINIIN NN OINNN NIVIY TINND

: TPINIMIN HHINIOY MHDI NNDNA D ON V)
A(n) = ¢if(n-1) + ¢,f(n-2) + ... + ¢f(n—1)

120N f(0), f(1),... f(r—1) NonNNN 59y DX OXWITI Xon 9N f(n) NX PTHNY Mn 9y
JYNNIDA O30 DY NDAITL IPVYY Y3D YNNI ON2 NTO NN NONNNN YDIVNR 05yN
7D NVYAY Y TO1 INYSD SWHNN 1900 X TUND f(n) = X" NTINNHN IIOIN NNONY PINS UoN3
9D WITI NNOIN NNON NX N

X=X Xl oxtT
:2apN X' -2 PN

X=cxX '+exX i+ .+

:IN

Xooxloex i ... —¢=0

5¥ YWY 17972 NN X 19001 ,MPDIN DNDNY 1IN MM X -¥ Mn 9y MINN 0901
: D190
P)=xX-cxX'-cX*—.. —-¢
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NN ,D0AP DOWHN DINO0N C1,Ca,...,C P 16.2.5 DTN
f(n) = ¢ f(n-1) + ¢, f(n-2) + ... + cf(n—1)
: DI/ .1 ITON NIV NIND NI NNON
Px) =X - X =X - —C,
:INNWNN IDINT ,NPDIN NND DY 59N DIPNN NIP)
XX l—ex - —¢, =0
NODIN NNON DY NHRMINA ANNYNA NN

Y OMININD DI X, X, NN NNO¥D NN ,78NIILIN 01000 7Y INDTIIPNIY 29D

NYOIN N .NDWN SY PIND NIN a;X; +a,X,; NN NI 5P DYV, NPDIN HNOY

DN NNON DY MNININ GOIN : VNI NINIIIN NIIIND OYTID PND NIDNY 29D 17555
NI N IIND NNNN NN HY NI 41728 52 1351 7INID 2NN NIN NN

TPMNIN INOPD NP NNON f(n) = ¢ f(n—1) + c,f(n-2) + ... + ¢ f(n-r) >NN :6.2.6 VYN
D) ,0M”YNN o f 930 IN .ANDNN DY NMINS a(n), b(n) PN ,0MIAP DMNNTPN DY
(1719 NI O3 a(n), b(n) S NPT 9PN 55 90190) 11909 aan) + Pb(n)
.a(n) = cja(n—1) + c;a(n-2) + ... + ca(n—-r) IN INONN DY PNIN a(n) -¥ 1IN0 :HNMN
Jb(n) = ¢;b(n—1) + c,b(n-2) + ... + ¢b(n-r) D) NOIT2
JNOND
aa(n) + Bb(n) =
ofcia(n-1) + ... + ca(n-r)) + B(c;b(n-1) + ... + ¢cb(n—1)) =
ci(ca(n—-1) + Bb(n-1)) + ... + c(xa(n-1) + Bb(n-r))

0 .Hnoun 5Y NN aa(n) + Bb(n) 03 1190

TR0 NVPI AN XN NININI NXIP :6.2.7 Mapon

N DININN NYIAP 1271 PNINI NI NMININ JYW NPT 917N 55 ,6.2.6 0IVN 29T : NN

TONNNT 907y PN 9D ¢ INPN D5 NN ONVPNN AN THN MV ANIN

f(n) X TN 19INA 131D WaN £(0), f(1),....f(r—1)

:TIPNNNN 2270 OORNHDN NPOIN HNON HY 1; PN V31 0 <j <1-1 955 ,NON TTND

fO)=f()=...=f-1)=0, fG=1 FfG+H=1f+2)=..=fx-1)=0

D N L1PNY OINOYD MDD O PRY RTD DD p,...,u; OMY HININD 1 DA
r—1 r—1

ON V991 DAN .Zajuj (n) =0 :0”pPNH Y2V n 935 YD ,0 -N OXPND NN Zajuj
=0 =0

AXR0<n<r-1
) {O, j#n
‘ui(n) = )
1

- J—n
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r—1
1991, D0aNNR ¢ DRTPPN YD 1D OX .o, =0 -5 D¥nONN Zajuj (n) =0 ypnwn 39>
j=0
NP J99Y ,r P NN MINANAN 2NN THAY INDD PINOPD OMIDN OPN NINININ
O .1 TAnn M0 ANT1 XN NX0IN NN Y NN

Y 0) NVYDPY T DIINNND DINTPN NYIAPS 1Y 2DYA 1712V YNNI 1901n1 P12
DINTPAR XINAD TWAN 50N NIPRL DIY MNP 10 £(0), (1) S DINNNnN NYNNNN
PYNY T5V 1517 N33 1IN .90 JY 1PTN DINNN NN 2NN 1T 25W1A PI00WN DIIN ,NIND
D5 1Y NYONY VIYIN NIPNI NT N2NN .0”YNHN 0N P(x) MM9INN DIN9N SV
0) P(x) D19190 ¥ 12W 28170 1111 NN 25073 3N, 09IV D»WYNN1 DWW 1 ¥ P(X) 999NN

.01 oYY

TPMNIN INOPD NI NNON f(n) = ¢ f(n—1) + c,f(n-2) + ... + ¢ f(n-r) >NN :6.2.8 VYN
DN .1IPDIN NNON DY IMINN DINON X' — X —CoX —...—C, M), DI DITPn OY
: XIN NNONN DY 9N NINMN IN X, Xa,...,X; DPYNAN DY DYV 1 ¥ DI

yx(m)=a; x| +a,x3+.+a,x;
,POIN NNO SY £(0).£(1).....f(r—1) NNNNN ¥y .DNYID DMYNN DD a1,as....,a, TYND
.21,4y,...,a, 7Y DYDY NN TN 19IN OWAIP
IPOIN NNODN SY NING PN MIMNT DINVTION SWNWR THX I 1PNT 910¥ 19 1NN

INPNA,NNOIN NNDN DY PIND XN x(M) =a;X] +a,X5 +..4a, X NN NV Y 0X )2

T2 a3,az,...,a; DOTPN XINAD NOT NINNY 7PYAN .(6.2.6 VAYN) NMNINI DY NP 91PN
1022 ,NONNNN P37 DX INPNY

£0) = x(0), f(1) = x(1),..., f-—1) = x(r-1)
SMINAN MINNYNN T AN IO a1,2s, ...,a, DIDTPN T DIWIT 1ION
f(0)=a, +a,+..+a,
f()=ax, +ax, +...+ax,
f(r—-1 : ax; ' +axy +. +ax’
DNV Xy,Xo,...,X, DYNYNY ININD TINN 21,2, ...,3, DINYNAL NPINIPY MNNYN NOIWN N

Y, INPY NIDOYNITHT 125 DOXIPY TR TNX 1IN BN NIIWNY YW ¥yan mn m
: (Vandermonde) NTIN7TI NIV XN 1’7 NN DY NYIVNNY
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r—1
I x; ... x5

r—1
I x5, ... X,

r—1
I x, ... x;

NYTY NIAIINRN Y2991 0,100 NP0 NN NYIVANY YT ,N1N MY DY x; DOYIIVN 5D DX
: NN NRINNND NOINKRIVTN DY NOIY D (IND NaY IN)

r—1
I x; ... x5
-1
1 x, .. x5 |
det| X —H(Xi—Xj)
: . j<i
r—1
I x, ... x;

NIM1dN ap,az,...,a, 7Y NN HNX 1IN ¥ 1357, 0INND NNY NVINKIVTN IW NIIY 10D
0. ,INMWNRN NN NN

: INAT NPOIN NNON NX N :6.2.9 NNT
f(0)=0, f(1)=1£2)=1
0> 1999 f(n) = 3f(n-1) + 4f(n-2) — 12f(n-3)

: INONN DY 7IMIND NXNYNN DY D0ND)
X -3 —-4x+12=0
: NI J9IND DY ORI NIRNWHN NN 2110 117
(x-2)(x+2)(x=3)=0
: DN OIMAIND DIPDION YYNY o0
X =2, x=-2,x3=3

195 MY NNONY Y9951 119NN

f(n)=ax; +a,x; +a,x;
MXNYHT NOWYN .DNDNN DY NONNN Y09Y 29 DY WaAP»Y OM»YNN 090N a;,a,,a3 TYND
: NOT NPNNNN Y9Y32 I ¥ 1 5y Noapnnn

0=£f(0) = a,+a,+a,
1=f(d) = 2a —-2a,+3a,
1=f(2) = 4a,+4a,+9%a,
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: NID NMINNYNDN NIV PN

a0 = 1

2 3 5
: XN NNONN PN 190

n205%  fmy=-n -2
5 s

.DY2197 DOYNN DOYNY W OMAINT DIPDIEY 1AW NIPRD NYI 71

o) NNON f(n) = ¢f(n—1) + cof(n-2) + ... + cfin—r) >NN : (B9 OIYNIVY) 6.2.10 VaYN
S IMAINT DD X — X —CoX ...~ M, DAY DIDTPR OY NIMIMIN NINOPY
3257 W X; 9 TUND X1.Xo.....Xx DPYNN DNY DWW K < 1 ¥ DINIY DN .NPDIN NNOD

: NMINN ANTNY DIV OONNH OINAN NN N ,d;

n n n
Xy X Xk
n n n
nXl an nXk
2.n 2.n 2.n
n X4 n X5 n Xk
di-1_n dy-l,n d-1_n
n X4 n X5 n Xk

22 TN TINDNN YW 19951 PNINSM
k
()= P(n)x]
i=1

a;; D»YHN DYIAP r DY NN 537 ,MINK D203 .di—1 NOYHN WD D9 XN P 9WND
VAN 0<j<di-1-1 1<i<k-¥5

k41
f(n) = Z:Z:aijnjxf1

i=1 j=0
32 TN WY 1IN0 9591 ,MDIN NNDN ¥ PNINS XN
a; DYIAPN 1YY 0PI NN WAPY ,N»OIN INDN YW £(0).f(1).....f(r-1) NSNNnn >3y

INIT NYIVAY T2 DY NODIANND NOT .IPINIPT NIDIOR YTPY T TN1PNI NYP NPN NN
NN NN XD DIVINDYN DN .ITNIO NN NTIINITN NY0NT

:OIN HNONI MM 16.2.11 NNyt
f0)=0,f(1)=1,f2)=2
10 >3 99 f(n) = 8f(n-1) — 21f(n-2) + 18f(n-3)
PN OININD INNYNDN
X -8’ +21x-18=0
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$TO AININ NDNNYNN NN P99 TWIN
X - 8x° +21x — 18 = (x-2)(x=3)*=0

JNON 2 5% N30 xp = 3 41,1 5W 2071 X = 2 0N IMIIND DINDI/N S DOWIIWN 195
111NN TP NNDIN DY Y5551 NN
f(n) = a;-2" + a,-3" + az-n-3"

:TIPNNNMN Y292 NY a1,25,23 DIVIAPN NN NINNDD 1T
f(0)=0=a, +a,
f(1)=1=2a, +3a, +3a,
f(2)=2=4a, +9a, +18a,

SN INONN NS 1991 a; = —4, a, = 4, a3 = —1 XN MNNWHN NN PNIND
f(n) = —4-2" + 43" - n.3"

733 ONON N ITRD DINNPN PYNY VIDNII P(X) 199NN DIDIBY N1IVP NION NIYN
ANNYR INAT DON) NI NNYNT NYYHnNn 0IPZ1 HY DIYIY NNONND NINNDY 19010
WY MOynn MNNYA O) 1IN0 NIWINDT MIRND D) ¥ (FYI1 IRV INODD
7V PIY .AOND MYIN9N NIRNDN PN NZYNI YN N2YNN MXNYATY YIT OIN .5y
NNONNL YDOIVIN T OX ¥ NITYN NNNY KIPIN NI2OND DY 0NN NANINI PN
D127 ND DX O2IN NP1 DVDINY XIPIN DINNA NPND NMIXNYNA DY DOYNIYD DOA1P

AND NIN DIDINNY

DWNIP DIDTPN DY NPIMIN-ND NPINOPY NHDI MNNDN PIND

TMIDIN-ND MNNYN NIIWNT 995 1INV 2931 ,P1TN NINDD NIAIINT IWPn IND D)
NIIYNT PN MMIMIN-NIN MRNYHN NIIYNT INYOD NIND DY NPINHD 5apnn
DONIP NPIMNIMIN-NT NPDI MNNDN 121TAYD DI T ,DINNNN HIMININT NINNIUNN
NPINYT MOIWN DY PINI DY aMYNN NIPIYN NX INY INOPY 72PN 91D 1TdY
19 OMINN OYDINNA O) YNNN NPPVRNNA TIND 2NT PIPIY INT .NPNININ XD NPIDIN

NPORNONIIAYT MINNIYND DY PN

AT P f(n) = fin—1) + f{(n-2) M2 NPNIMIN NI NINNDN TN T¥D 925 WX
0¥ P /N NNYN NPDI HNDI 19 NTRIY NAY

:TINAN MPOOIN NNDNA 19121) £6.2.12 N
n>25930 f(n) = f(n-1) + f(n-2) +7
HRININN APOIN NNONT NPRINY NN NN POIZNT ONN NN JOPN NPYN DNN
SIMNT N NIOOIN NNONZ TRN NIND XINKY DY XD DNY1A Mf(n) = f(n-1) + f(n-2)
=093 f(n) = -7
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N3 ,00Mw 0N £(0), f(1) NoNNNN Y27V ,2WND ON DAX DN NNONY PN MY XTI IP
HRIDIND DXNNYHNN DY NMINININ OY DT PNINS DOva NN NAIWNN DMIp XD PIng
MNIN NON DI NNON DY O50Oon Pnan T f(n) = f(n-1) + f(n-2)

NN f(n) = f(n—1) + f(n-2) + 7

1+\/§ +a, 71_\6 -7
2 2

f(n)=a,

NYNNNN 9Y NN D) OMPY Y91 NNY .ONWYYD DPYNN DMaDN DN a2, DNTPNNYD
DPOIN NNDN NX DPPNN DY PNINNY T 5.3, DPYNN DIODN NY DIWINT .OWATHIN
NN Y9V XI8nD v f(0) = 0, (1) = 1 NoNNNN Y97y DX B 0» f(n) = f(n-1) + f(n-2) + 7

:NININ MNNWNHN INYD 11NN

f(0)=0=a,+a, -7

1+4/5 1-4/5
5 +a, -

2

f()=1=a,

NN N9

7 9.45 7 9.45
a=—+——, a,
210

2 10
DI NMINNDN 1IN NN JYY IDIN PIDY VIVAN .NIPND NPN NNY 1Y IPXIY NPT
: T2 DAL ¥ NPMNININ KT NPINODD
.N2NNNN Y09Y) 0OYNNA NIININD INODN DY h(n) X555N PININ NN NINAD X
9NNNN YOYN BOYNNA W, NPNININ NON NNDMY a(n) INWID PNINI NINNY 2
Y NN OYPY h(n) + a(n) 0IDONY Td h(n) WHON NIN OATPHN NN YIPY D

Karlabaran|

,TPNINN XON NNONY NN XN h(n) + a(n) -¥ 19 NV h(n) -2 OITPNHN DY NN DD
9y NN 0} P> h(n) + a(n) PININY NYVLIANT MV DY ONOYIIN DMV T VDY YN
Karlabaran|

INPY 1O NN f(n) = ¢if(n—-1) + c;f(n-2) + ... + ¢fin-r) + g(n) NN :6.2.13 VaYN
9¥ b(n) INN PIND 95Y .ANDNN HY INWYHD 11N a(n) o) .0WNIAP DIDTPR DY NOIMDIN-NI
: PIONNAN INRIND INONN FW 11909 h(n) TWND b(n) = a(n) + h(n) NIINN Y HNONN
A(n) = ¢if(n-1) + ¢,f(n-2) + ... + ¢f(n—1)

IN DNINNIN-NOT NNONN DY PNIND a(n) ONX : NN

.a(m) = cia(n-1) + c;a(n-2) + ... + ca(n-r) + g(n)
SIN TPDININ-NIT INONN DY NN b(n) ON NNITA

Jb(n) = ¢;b(n-1) + c,b(n-2) + ... + cb(n-1) + g(n)



PO MXNON PINS 254

93P, MNINKD MNNYNN NY NN 70N h(n) = b(n) — a(n) 1T DX 1O
h(n) = ¢;h(n-1) + c;h(n-2) + ... + ¢;h(n-1)
INRNAN NN NNONN DY 19N h(n) 119D
5 PINS b(n) = a(n) + h(n) IN ,NDINNHRN HINDIND INDWN TY PNINS h(n) OX 79719
O .573mn-N01 NNoNn

WIOY L IPNIIN-NI NINDD MO NNONY D7D PN NINNT ¥TD PIINND VIVHN 29 DY
MDD NPOIN NNON NN N, 1ONININ-NON NPOIN NNONY INYID PNIND NINAY
JINSHY MINTININ NN 12NN

NOIN NNON NN NND :6.2.14 DM

n> 199 f(n) = 2f(n-1)+ 1 ,f(0) =0
PYO INT) MNINRN OTTIN NNV PNIND YITTN DITYND 19010 X NINNHN INDIN I} 911D
NONN SV O5551 11NN .HMININ NN NINOND MWAN 119N9 NN fln) = -1 XD .(4.4
Y9951 119NN L1097 INYED YUnn AP a -¥d f(n) = o-2" XN f(n) = 2f(n—1) 70NN
: NI DDININ XN NNOND

fn)=a2"-1

0) IWNIY 49D f(n) = 2"-1 NI PN 1997 ,0PT2) o = 195 97 £(0) = 0 NYNNNN T
.6.1.1 nnyTa

29 AN .HNININ NON NNONZ INYID PN INONND MOIY IR 0NN NINRY PYND v
T2 OWI NPNVY DT NN YVINTVIN YIN? YT IY 1IN 1123 IND NMITIN MINDIITN
Y2 55 NIMY PPN MYITN NIVIYN D PIXY ¥ ANY OINTPNN D901 NINND GUIN

D90 MONT IR I3 PV OPOY NN JN 9N T IoNn

1Y PINS Wons f(n) = 2f(n—1) + 4n — 6 NIOIN NNDN NN N IOYY N%I) :6.2.15 NPT
9223 MHIYDIN NNDN NNG X DN 19N .f(n) = An + B 1n%3) ,n -2 1IN0 PPN f(n)
An+B=2(A(n-1)+B)+4n-6
:72P) DYXAN NN IT DY
1n(A+4)=2A-B+6

NN, OMPNN 11D MNTY Y702 .10 -2 NN 1PN PR PN 1 -2 290 1D 7NN IV INIY PN
NONY PINS XN f(n) = —4n-2 ,JoN1 A = =4, B = -2 ) 17717 .0 -2 073 PN DYANNY 102
NI f(n) = 2f(n—1) $PNININN NNONN W PININY IPXRT NOTIPN NPT .FNININ NN
: NI NN YW 555N 119191 ,6.2.13 VAYN Y3 DY 195 INWIS SWNn MIap o -¥5 f(n) = o-2"

f(n) = o-2" —4n -2

oYnIn

NNONN T HY ANOVN NN 1INS .n > 1995 f(n) = 2f(n-1) ,f(1) = 3 PO DNON M .1
SIIIND DTN YWY



255 nYaNeyY Ny MIRNOD

DIMIIND DIZIDN YWY NNOND YT DY NININ NPOIN NINNON AR NS .2

0, n=0 .N
t(n) =<5, n=1
3ttn —1)+4t(n - 2), n>1
0, n=0 12
h(n) =<1, n=1
9h(n-2), n>1
{9n2—15n+106, n=012 -
f(n)=
f(n—1)+2f(n-2)—2f(n-3), n>2

noNNNN 09y oY ,n = 4 9595 f(n) = 2f(n-2) — f(n—4) NPON HNON NN NS .3
n=0,1,239yf(n)=n

"7y Oy 0 = 3 999 f(n) = 5f(n-1) — 8f(n-2) + 4f(n-3) NPV NNON NN NS 4
£2)=2 /1) =1 ,£0) = 0 n5>ANAN

Ah(n) = 2h(n-1) — 3n° + 4n + 7 NPOIN NNON SV 19951 NININ NXINND .5
Y NDYNN DINDIA NINY 0100 119N NP AN : 19971

£(0) = 1 nonnnn >3y oY f(n) = 5fn-1) — 6f(n-2) + 7 NPOIN NNOW NN NS .6
f1)=2

MNP NPYPND 6.3

1IN ,091971970 MPIND 170 TV 1NN ,LD0VIMIP NN ,NINY NPSPNY DYDY DINYDT
901 Y MIPIZN ,NINNY NPXPIIG NIIYI NPNOIIANIP NN HNDINI NHDI NIRNDN

JINNIIDA HM901 12V NY NIDIN 720V NNATI 1YW NN MINY NPNPNAL PN NN
n9NNNN D9y T LY DTN AWUN f(n) NYTON YMAN AN AYND MN[0
DMPIN NRY 1Y 1% .0 > 1 935 f(n) = f(n—1) + f(n-2) "»o3in nnoM K0) =1, (1) =1
NI MY YDA YoIoIan YPYIN 90 NN (0), (1), f(2),... MNOPXRN NITON NN

$391DPIND ION NN TR (FPNDNN NHRNITLD) DPYNHD DIID0N T NITO 1 IN»PNIY

F(x) = if(n)-x“ =£(0)+£(1)-x +£(2)- x> +£3)- X +...

£(0), f(1), f(2),... NITON DY NN NIEPNON DINP DX F(x) 1100

DINTIPT PPV TIVN IPONRNND NPIDIN ITNRD ROW DINTIPI 1102 Y310 MINPND NWY NY TN
YT DYY NI NPOANND NITIN PITY DYIN DPNY DINIIPY NN DY XU 1T 720V



PO MRXNON PINS 256

NNNYY 0o NN, F(x) = Zf (n)-x" Mpinn MY £(0), £(1), £2),... NITON 2 72YHPN
n=0

LING DNWY N0IN NNDN NN DY WPMY DIPIN DMVNNN DD DY PYY NN
TR F(X) M8PN97 X DY 039 19X 711y ,DNON 19 ,I1NN0NY NN 1712 9210V OIXRIIPN

DT NN L,OI0ND NIN DNN ,0IDNND Zf(n)-xn 9101 XYY 0999y WN 1y PNy IN
n=0

M MIPma L F(x) n5Y 0902 09nYD 19203 F(x) 78PN JN»Na . 00IT Y moonnn
DYNY0ANN DININT DINPPNN DNN NIRYN N2 INT 2N TN 7107 MIDIN HIN N0 NN
07 F'(x) -5 99y

NNAIVA ITNDOINM MITRONIINTN PAYNT MM P 29970 ANNN J1OX TIND NONY
NIPIN DINNND P93I9N )20 DY ND0NI Y9 NN .DONYT NN : NN NINX DINTIN DIXNPY
YTNYNN XD D55 525 11ONNY NPNMYAN MTIVIN DOY T ,007910719 MPIN M0 H¥ 0NN
L9290 PIYUN 1D TY ANT NoW D))

S¥ DTN NYINN 01 NN NAPXPN YIDIWD DWINTH OO0 NN NODNHID NNY TN
.Y2X0ND DINHN YTIO HWIN — N

NP LR MDIN TY NMTINND NDWIONY -+ -1, NP XD NP R ONN :16.3.1 191N
10PN ON NN X (R, +, 2) NI20N .NNNXNNA D951 91200
:90Y2 ,N2NY ONYA NDLVIMIP NANR .1
at+t(dtc)=(atb)+co”pnnab.ceR Y0 : MDONNION + NVNN NOWI o
O»PRn aeR Y25¥ 10 0g € R 11X O»P NN NTM YN R -2 0P e
¥ DAND 2N NIPN P NI AT DN o0y I a+0g =0k ta=a
BYanl
Jo 9y am a+b=0b+a=0g-YT0beR 0P acR Y59 ) 92N OV e
—a YT DY INIONY a DY M NIPIY 20 M b O»p aeR 5ao
.a+b=b+ao»pPnNnabeR 530 : MVLVINP NP NOWI o
.a-(b-c) = (a-b)-c ©PNN a,b,ceR Y25 : MDONONION DO NIV .2
: DINAN NDINOPIN ONYPNN .3
ab+c)=abtacorpnnabceR90Y e
(bt+cra=batcao»pnnabceR90D e

a,beR 595 1m0 1200IP Y9010 NS D) DN A0UMIP MIN XIPY (R4, »nn
.a-b=b-a 0»pnn

995¥ 79 1xeR 1IN DP 90195 Y995 NN 12X DOP DX ATN° BY M0 NIP) (R.+.-) 1NN
SY ATAN YN XIPN DM XN 1z AN AN 1D 9Y 0 a-1g = Ix-a = a ©’Pnn acR
2NN



257 MNP NPNPNS

90 XApY a N ab = b-a = 1z ©»pnn beR 0»p ONX AN OY (R.+,1) 3IN2 929X aeR »p
SY INIX 0NN a DY HMNN b -D DOXNIP TN NIN 9732 b N3 NIPRIAY NIXIND NYP XD

1
.= ophyaNna
a

e}
971 90N . Zaan MVN NN (ag,a3.az,...) NITO SY N8N NINPHIN 16.3.2 N91IN
n=0
Oy MINPN NNNPNN 95 n¥Ip 999 MPIN Y D) XD (20,41,...,a,) 7O DINNNN
,22unnn Sy N> MINYNA 09NN MPNN N N NXIPI a, OMYDHD DINTPN

MYWN SNY NN 11 PTHND DY NN IR[[x]] -w N Y .IR[[x]] ST HY MIMON)
: ININ NPDODIN

S+ NBNN WA NITHIN 1

(ianxnj J{ibnxnj = i(an +b_)x"

;- 290N AOWI NN .2

(Zeo St 5 Emo

,DYM9519 DI PITA TOW 10V DN OIN,NDNN NNYN MININY 1YY 13N NATHINN
SPYI0 NONY NS0

NN 37 IN L0 -0 DMNYN a, DINTPN TV IND 900 PI ¥ DIDN MPIN 701 DN :H9yn

e}
v Zanxn MPINN 0 NN YNNI 75 013193 70N NN DIWVIZ 7ANTN NN NN
n=0
142 71N 03 mMY WaN n =0, 2955 a,=0-1a,=1, a3 =2

:19-105 .1 P> By >10LIP NN NN R[x] :6.3.3 vown

[eo)
IND DINA ABN D20 Y39 a, = 013w Y a x" Non xn R x| wnn vy vann sa
n=0

0T Hy

[eo)
TN N> 0998, = 0N A= 11w Y a x" nonnmn R[x| »nnow asnn sa
n=0

1T 5Y Y0 NN



PO MNXNON PINS 258

MNONY YD MNON . NMIMPNA PDOVVIMP NN DY NMNPOPNN J92W NTID 5P :HnMN
e} e}
anxn M INT DY DTN DN PN NI ,n > 0935 a, = 0 IO a = 1 12Y Zanxn
n=0 n=0
:0pnn R[x]| -1999n nowe mymnse vy . R x| -2 nwvs mpwn oo
.[Zanxnj-[z bnxnj :Z[Zakbnk } S
n=0 n=0 n=0\ k=0 n=0
N> 0999 a,= 01N ag=1-¥ PO NI PINNT PNYN

e}
On=0 935a,=012v Zaan 0N NIN DONN I2INY NIDND TWOIN IOV 19X
n=0

MPIN M0 NI PN NaN LawnN 29917 AN ¥ R x| 2101 2208 955 Mow 25 ©rw)
N2 99911 YN W

o0
.20 7= 0 DN P ON DN YN W Zanxn MPIN VY :6.3.4 vVavn
n=0
LDONMD NY MOINY 1Y 1NN

[eo) [eo)
Dpn N, » a x" Monswrsannan Y b x" oN:n7an NN
n=0 n=0

(00)(£00)

.29 %= 0 N15N2 99 ag-by =1 V192

DOYPNNY TN .XIN SDONPIN IPINA be,by,...  NITON NN NNID JWIN : PY9DN ININD
1
SINOMY agby +a;bg =0 ,39-1m9 . b, =— N ag = 0 -YNPINn .agby =1
a’O
b — ~a0by _a
b, = =—=
a’O a’O

S INOD agbe + a;-b; +axbg=0nmTa

2
b _—a,-b,—a,-b, aj-a,-a,
=

a, ag
O .(1193) 1515 7901 AN PTINDY TPVRND TWIN T3
5y IN F1 o1 9y 999170 9101 NN 1M 190 9910 YN F MIPIN 71109 W nipna :pnse

— T



259 MNP NPNPNS

n

1 o0
NI 19 9900 YR 79N (1-X) MO, MINN DN IN ,1—:Zx :6.3.5 Myv

—X -0

DX w0
n=0
80 = 1 XN DY OWIINN IINRNY NI TaN (1-X) NON ,6.3.4 VIYN 399 1IN : NN

NITHINN 29 DY N32 N 0MIVN NY NX 9933 ,(1-X) DV D901 NIN ZX“ MONY NN 1D
n=0

N, (1-x) = Z a_ X" NUYNN NN (1-X) 7VN NX NYINN 2N D951 LW bY
n=0

o0

999b, = 19N> D x" =D 'b X" 2mN oM n=2 999 a,=0 N1 = -1 ,a,= 1
n=0 n=0
0PN 995N NITIN95Y DY 0 >0

,(l—X)-[ixnj:icnxn

AYND

a,b, , —agb, +ab,, =b, =b,, =4 "7

rcn_;ak nk — &0, +a,b,, =0, — nl_{L n=0
G=0NIc=1-YPONMWDP.a=1a=-1DX),a,=a;= ... =0 -¥ NI NN

e} o0
0w (1=x)7 =D x" ;199 .amrnaenxn D e x™ Monmva,nz 195
n=0 n=0

[eo)
F(x) = Zf (n)-x" ONNHN NINPN YPNA YENITDY 37301Y 1NN :6.3.6 NIV
n=0
NN 93P ,f(0) = (1) = 1 NZnNNN 17y f(n) = f(n—1) + f(n-2) NPOIN NNOML YIDY ST DY
: DONIN ANYNYN NITO

F(x) = if(n)-xn £(0)+£(1)-x +if(n)-xn

= l+x+i(f(n—l)+f(n—2))-xn

= 1rx+ Y -1 x"+ Y f(n-2) X"
n=2 n=2

= lJrXer-z:f(n—l)-xnflerz-Zf(n—Z)-Xm2
n=2 n=2



PO MRNDN PINS 260

729 NNINND NNV NNYODN YW DXOPTINN NN V)

F(x) = 1+X+X'Zf(n)'Xn erz-z:f(n)-xn
n=l n=0

L D92pNn £(0) = 1 -¥ PN
F(x) = 1+X+X-(F(X)—l)+X2-F(X)
= 1+x-F(x)+x*-F(x)

11991 F(X)-(1-x—x) = 1 - 19NN 105

2

DYINOYY DINIPDID P DY9IDN DMV DIBTYR NN .NIDNI YA DITID YN N

1
YD 10 YITY 91N D ,(X -1 VIV 19IND MON Y TUND) T NNNN DMV GN 20INY .1IONA
-y
1 ©0
0PN NN N2NN P9, NMNYNT NOYHN 012D YIRS MmN DY (6.3.5 Myv) —— = Zy
y n=0
Bupianliv)
J—x—x* = —(x—x1)-(X—X»)

ST 1-X—X7 = 0 TPYIIN IRNYNN OYNIY DN X1,X; TYND

1445 . 1=+

T )

1
: NN TOYNI 19N T 718NN 01V OY TIYZ 1NJ PTY DN
-y

l-x—x"=—(x—x)(x— Xz):—Xlxz(l——j(l——j
X X3

1351 ) X1°Xo = -1 o>IN
A=x=x"=(l+x,-x)(1+x,-x)

29 PYT F(X) -7 917 N1 1015 yind mn oy



261 NP NPIPNI

1 1 1

F(x)= = .
) I4+x-x 1+x,-x

B 1 1 B 1 1
I+x,-x 14x,x ) (%, - %)X (1+%x,-x 14, -x Jx+/5

1

V2 N3 DM0NN DRY T 178NN 01012 712170 NNYY NXIN PINNKD TYSN DY PN
-y

1721 6.3.5 MIYLL I ITI IY NYD (¥ = —X1-X INY = —Xo-X JND) 112 N3 0910 N

1

F(x) = —(i(—xz X =3, .X)“j

11291 01909 727 OIN IPN 1 = 0 Y IYNRIN TDINN

RGO =— =2 (=) = (=x))

:n =095 )95

1 n+l n+l 1 (1++5 . 1 (1-5 "
’f(n):ﬁ((_xz) -(-x) ):ﬁ(TJ _ﬁ(TJ

ANV 2792 6.2 Y0 ,3.4 PYOa 1553910 INT) NINK MVIYL 1IN 929V 29D

WP PN DONNNN NHIINAD VY NN MEN M 0y PN 1 R[x] »m
PPN TN Y0 k > 0 995 NNTY 599N NITIND 9N Wi mysnNa Fi(x) mipin 1mng
w3 (F(x))"* =G(x) 1T ,5909 75 .1PI129 MPIn D) PDHNY (PR3 1210 NINSY NN

(G(x))” =F(x) onn mysnxa 0»9me mpin 1w F.G



PO MRNON PINS 262

2 (m-2)x Y
.\/1—x:1—23( ! j(iJ :6.3.7 mayw

n=1 n n-— 1 4
290 MININZ DY ,¥12592 DINND NIYW NN NZYI ON 1R7 JPNIYN WIPI Nn 1NN

2
0 2n-2 -
d-x)=|1-32[" X
~=n{ n—-1 \ 4
2(2n-2 (1}“
.a,=— —
niln—-1 \4

.(l—X):(l—iaanj

1 5
, Ay=—, a,=——= "2 XTNY LINWIN ,NYINN 5apY 710
128

16

1120

99999 OMIYIV DN

1 1
INOD 131 4, :E, a, :g

299793 1910

anzz-(ﬂn-cm—l)

2n-2
LIYN INT) C(n—l):l( t : j - Yo NN L (n-1) -0 PvP q9on XN Cn-1) -¥>
n, n-—

.(4.3.11

YNPTNON NMIPINT N0 NN Y2 DO ONY NP NIDINY DX0ID XY MIYON MYNYNn

DMYNIN DIATPNAN NYY 712717 W19 .(1-X) 10790 NIPIND 710 IR 93P, I—Zanx“

n=1
n=1

© 2
NNDNI YRNYI .DIND OINY DINTPNRN 7D TN DUNI ,(—1) -1 1 DINNSY (1 —Zanx“j oY

£ 9729 WYY NG NTID Y2 MIPIN Y10 9¥ 9991

1P=18nx"vw otpnn X
a1 =% 39N —2a; = -1 XN X YW OTpnn A

n-1
2a, —Z:akamk =0:n=225% .
k=1
90 PITAD WY NININ NNT .OPPNN D -Y P )0 ON PITA0 WO

n-1
2a, = Z:akamk
k=1



263 NP NPIPNI

DT

1 n na 1 k 1 n—-k
4. = | -Cn-h=>12=| -Ck=D-2|=| -Cn-k-1)
4 ="\ 4 4
: DINNDN NN
n—1
.Cn-1)=> Ck-DCn-k-1)
k=1
[1.19N237 922 NNMID NN L(4.4.9 VOV INT) YPOP 90N Y NNOIN NNON PPTI N

o0 2n-2
.\/1—4X=1—z%-( t jxn :6.3.8 Mo

“~n (| n-1
INY NP2 D9IN,6.3.7 MYV X DIPNRI 4X NIANAN NYAPNNN NVIV MPON J2I0D 1§ 1 AN
Dy 0PI DRTPH NIY NOVI DY DIPAN NNOMA YIDOW T 5y JON) .NINX TITa
:(4.7.3 VOVYN) DNYID DMYNHN DMI9DN

1-4x

Il
_~
—
|
B
A
-’
-
=
03

:0YpNnn> 09507 ,4.7 9°y01 4 5770 290 O9IN
1/2Y (- 2 (n-2
n) 4 nl{n-1

—4x - 1+§:(‘an1 .2.(
n

Rpl

U .nnonn Nn»non 7510

N mvws o R[x] 200 20N by moon mbwea wonwno T8 W oonyy
: NI J9IND NI NON MDY TN0PNRM



NPOY MRNDN PINS 264

R[x] mnampn o Fx) =D a,x" > :6.3.9 nymn
n=0

OO TIIMFE) DY natan .1
F(x) = Zn a X" = Z(n +1-a, ,x"
n=1 n=0
DT OY AN COVN OTPN OY x 29D F(X) DY DveNn - .2

. IF(X)dX = iﬁanxnﬂ +c
n=0

NIYNN DY YO LIYND MIAIND NIIND Y .(IF(x)dx)':F(x) DYPRNNY XTI Sp

IND YITINY 290 NOPINM NN AYINY (1123 N3 TN) POND 120 DY PN OIRONIIT
MPINAN ,ANNN JONX I OINONII9TN AYNN DY 1D 900N DYIYa 2V DMAYNYN
PTINN NI IYATI YITH WINHND NINAT NNTI TN IND 1IN N2 XY YD 1IN MYINTH

0

1 n
MPINN 7V NN OVID ORY N INMYRYN 1Y JPNYY 901 . ——= ) X NIV 9D
-x -

-¥ D) 1PNT R NYDD .1 MPIRN M0 apnn D x mipinn 7102 (1-x)

.mzl_ig(zn—zj(an n=0

~nl n—-1

» 2(2n—-2\x %
2apnn Y1011 I—Z— ! Z MPIND 7V NN DDYH DNY NN I2T0 MYNYN
Ny n—

1
—— 1D NINDN NPYNHD NPEPNID NINID N0 MIVIND NONX NHNAXN .(1-X) MPINN 110
—X

.0»21R7I90 MPINN M0 NNT MPWD 191 arcsinyl—x> 02 NP8PNs on ,/1-x N

1
nYNN NNPNAD 1— 1D MIXPNT SY NN NN DAYNN OX 1N NN NIV 7dYan
—X

ATHND NN IWIN DY NTIONND 1IN NN DN LPINONIIDT J12WNI 170 O TRV 19D)
T(IND NITHINY 292) DTNV MPIN IV ZY NN

1Y MININD WY 33199V 19IND L IND NNIN NNYY XY TN NYP NN NNINNY 711N N2IWNN
19,1192 Y©P0aN I0INT D2 AN ,DMINRTND MPIN Y110 DY 171NN NN NNYI INND
.DY2%)IN2 XX TN NYPNA D PPN NADIN DY NI DY ,NDA1D JW NN NNON



265 MNP NPNPND

n

1 0
YMN NY AN I IMINII ’_:ZX -¥ 6.3.5 Myva NN IININD :16.3.10 NMT

—X -0

S 1 1
NN > ZX oY NN . — NN DOVOID NI¥PND 1— S¥ NN NN )PNYN
n=0 1—'X —X

DAY NN . Y nx™ =) (n+1)x" NN DRI MPIN MV HY NIINN
n=0

n=1
L Sy
=0

(=7

n 1
D3NN WS Y (n+1)X" MPINN O HY 990N NIN ——— 99 NN WY
n=0 1-x

(1_X)2.§(n+1)xn:1

: DY2APNNN ONRTPNN DN PITAN NIPIN IV DY NN NNDNL YNNY)

A1=1pPRNNX’ oY 0Tpnn N

12-2-1=0x1Nx' YY oTpnn A

(NI X" DY DTN ,N299110 NNDN aY JoNY .0 = 2 bOD XU DY OTPpnn AN QYN Y )
WO 1-(n+1) - 2:n+ 1-(n-1) =0

DYDON TV NMIND NMITO IV 2NN AX NI L,4.3 PYoa :()ovp 39901) 6.3.11 NP3t
593 19) , DYTNNN 99012 NNY DYDANN 9901 NAY NITO NN NNIND 19T 9I1910) DY TNX)
NIXRIND IMYPNN ND (OYTAND 99002 NNY IN DI DIDIND 19010 17T0N DY NY»M
TNOIN NNON NN OYPNR OXINN 1 -1 OX0ON n NIVIIDY NININD NT70 DY C(n) 1900NY
:(4.4.9 VOYN INI) INAN

co=1 c=1

n>15% Ch)= ZH:C(k ~DCn —k)

oy C(n) -2 WN1997 MVIIAN NN XINAY TN NN NNY .PVP 1901 X1 C(n) 19000 71010
NN NOUN DY NNID N1 20 HNX NXAT T .NINND NPEPNNL VIO O

on nnon .C0), C(1), C2),... NHTOT NIPN 8PN F(X):ZC(n)Xn api)
n=0

N29577 NN AVND UPann 127 NN NPYPNG 5305 APoNN DX TINA 13 Cn) -2
MPIN M0 995 SY 7NN 299 1PNY FAX) P Y 1 n99on Y1pno 10y F(x)-F(x)
1 OMPNN

F2(x) = (iC(n)xnj : (iC(n)X“j = i[Z

n=0\ k=0

C(k)C(n — k)jxn



PO MRNDN PINS 266

: ©YPNN POP 90N SY NIHDIN NNDN 29 DY OIND
Cn+1)= ZH:C(k)C(n -k)
k=0
)90 (N)I0DN DY DYOPTIND NN MINY 25 10OY)
Fx)= i C(n +Dx"
n=0
192931 X -1 ©INT MY NN 91993

xF*(x) = i Cn+Dx™ = i Cn)x" =F(x)—-1

XF(x) = F(x) + 1 = 0 5991290 nXNwnn DX 1n»pn F(X) n8pn mspsn mvs
: DN NNIN DONIN INNIWHN YUY

1++1-4x

F(x) = ™

:6.3.8 Myv AL

.mzl_i%.(zn‘zjxn

“~n (| n-1

959 N5 7,00 L F(x) = VY12 YNNYI 12V 10701 1IN0 PITY 1P 10y

1+V1-4x
2x

NTINAT NTON 900 NN DN ONY DIWN) 021N on F(X) 5w Minsa C(n) 0nTpnn

X' 0Tpnn V1-4x MY 190, 01NN 1D NINAY DY 15D (21PN 121100 1Y 1900)
219D DMWY NI n > 1 -W5

1-/1-4x

2X

1 2n-2)
- 2x5n \ n—1

1 (211—2} -
= Z_. X

on \ n-1

oy ! m

F(x)

=n+lin



267 MNP NPNPND

1 (2n
NIV PINDN TN NI ,IND DN TN 4.3 Py 1N o 295, C(n) :—1( j \R2
n+ n
.4 9792 1UYY 293 598D JPYY MYNNND NII, N NPNPN Y 15551 NN
NYNVIIMP AN HNDIN
INID XTI PN NPYA SV AN I PIND PIN 30030 NN NPNPN

:INAT N DX NN £6.3.12 Nt

K +
nmxzkIwns Y n m. _|nrm
=1 )\ k-1 k

NPXPND NNYA NN NNDIN PNY (4.3 PYO L4 5712 92D NI NNVIAMIP NNDIN)
:(4.3.1 VOV INT) PNV DY ONAN NND D TY 719D .NIINY

(‘:}4 (4", i(rﬂxl (1)

:92P3 M2 MY DIVAN MY NN 9992) TUND

~ Z[njx : E[zjl =(1+x)""

i—o \ 1 =0

DMN oMYA xXF Y DTPRN NN 1YY X -1 DY DI DN DIMNA MY
N2 X' NN D00 PWNAN D200 TN SY 593 0T HY INDY QN WP xF NN 090N
559 4PN MN TN .j = k-1 OPTPND DINNNN TN DT X X 990 M)Wn DIDONN

SNINONDY PN X DY 01PN )0 it =k Ddpnn0<j<mYan0<i<n

I

NOPI HY DN NNON %9 NI ,(1+x)™™ NVr132 IS P> PNa x5 DY OTPNN |, TPND

n—+m
NN DNDIN NN . K



PO MNNON PINS 268

s TIPIN TV NV HY 5335 NNDNN NN T PI192 TN NPTIONN NITIWN P2
(Zanxnj . (anxnj = chxn
n=0 n=0 n=0

Y NYaon SWnd IMPIN MMV MHYN INY DY MYOn 7371 NN .c, :Zakbmk IUND
k=0

: DNV NYVY

.(ganx“j : (iﬂnx“j : [gnx“j = ni:)anx“

M (7 onn w1 oy nvp N0 {at. {8 {n) mweoxa a, nx N0 PN
myon i+ j+k=n-vI0 i j kmwowun 5295y NN 01OON TUND a, :Zaiﬂj;/k
NIPIN 20 DY INWID 1901 W NI NNT NPT NPYON NNAN

:On%eon MM L1 < j < k AWND D g X" MIPInn 00 k -1 001) 16.3.13 Mayw
n=0
k o0 o0
SW MPNIN 92 5Y NIN DION WND A, = D ay; 0 N .H(Zaj)nx“j => ax"
j=1 =0 n=0

.il + ...+ ik =1 D’D”PDﬂ il, .. .,ik D’U‘77)’N
0.k 5y MXPYTHINA : AN

2 MPIN 70 .1 N 0 P17 DN ©RTPRN Y5 DNAY MPIN IV DPDIY DX MNP 0NV
NN S ON DUnd 75 .0»Y¥av 0M9on HY Nws N¥1ap SN quno ,Zx“ :D N

nesS

5=

1 n
N 099N NP .(6 523N INA) N = Zx IN D?NN DMYI0N DMI9DNN 7D NNIIP
—-X nes

(N2 NN NN 6.3.13 MHiyv NI

k o0
,H(Z x“j => a,x" W .0"y10 0Meon Yw M¥ap S;,..S, < N v :6.3.14 mayw

i=1 \ ne§ n=0
A1€Sy,..,ikeS DY i) + ... + i = n DD 1YY DINYON 190N NI a, IYND

DA NINVIANIP NINT NPIIND YT 5737 MYV NNY YHNY)I



269 Ny NPIPNI

1 > /n+k-1
{4 9990 N MABN INDINY) —k:z e Yo NOoN :6.3.15 Nt
(1 - X) n=0 k-1

1
MYV 9> (l—k V0 INYN MPINN 0 DX AYND YTD MPIN IV DY N3N WNRNY)
—X
1IN DN NPMPNN 6.3.5
1 <A,
—=3x
1_ X n=0
;K NPIN DYAINN MY NN oY)

O_;X)k:[ixnjk :ganx“

n=0
on i = ix“ VN HY NIN91 DONTPNRN DOV 20 OOYI ., DONTPNRN NN AWND 1MI¥I2
- n=0
-Y 75 0p,..L0 DOPIPN DY MNan 1990 XD a, OTPnn L,6.3.14 My o ob 1
n+k-1
k-1

1 2 (n+k-1)
'(1—X)k:§( k-1 }‘

(N NN Y W99 .(4.2.17 NNIYT IND) ( j NN 90N O9IN . + ... +ig=n

9901 SY MPYN

oYYV 090N YY (a,....a) NITO N n VIV PON LY APYh :6.3.16 NN
PN K- n Y NP MY OIIN T NP .a . tac = nomYpona > .. a1
.DPYNN DN a; ©YI9DHM

MPIN ¥aY ¥ n = 5 ONX ,OYNY .n 1901 DY NIMYN NIPIVNN 1901 NN NN N8I DN
£ NPIVAN
(%), 4.1), (3.2), (3,1,1), (2.2,1), (2,1.1.1), (1.1,1,1.1)

1D D17 DIRPIVNNN NPYOYNY NPONIPN DMI90NN NN P9 XIN MPIINI PIoYN
DXIWNN DWIN P2 NNDI NIINY NPXPNT JRANNT ON N OININDD NINITAY AN
ADMIN DY NN LAYNN NNDIN T DY INY 0TI .NIPIDNA VD

n oY MPIZNN 99007 MY DY OPYNT n DY MPIZNT 9900 ,1 995 1 (99MN) 6.3.17 vavn
LDMMN-IN D210V OYPoNY



POy MRXNON PINS 270

, DY DPONT 93 (5), (4,1), (3,2) MPYN2,n =5 -5 590 10mw MpIonn 12 :6.3.18 Nt
92YTR DMIPNN MWL DN OMNR-N 00NN 92 (5), (3.1,1), (1,1,1,1,1) mpona 5Ny
PN wibwa

b, NN, 0¥ OPOND n JY MPITNN 190105 a, NN TN 0 Y35 :6.3.17 VavN nNcN
Y MONY OO DY ,n 925 a, = by I NI NN .ONNI-IN OPIND n DY NMIPIWNN 19010d

2WN7 U .Zanx“:anx“ MWD MTIONND MINNDN MNP NPYPNN
n=0 n=0

951 MNP NPYPENN

IN DY OPOND n DY MPIINN 1907 a, O :6.3.19 MIyo
Yax" =1+ x)A+ 7)1+ X))
n=0

DM 990 N 91 NN (14x), (14x5).... DPIDN NN D990 PN TUND AN
(140) -0 X NN (1457 -0 X IR DN DRY Dwng noy X NN T AN (1 + X)) 17Nnn
X7 =X 95 mnn 1 NN 1 NK ©9M2 PR DN AN DoY) ,(1+x°%) o90nn x° NX
,NINDN 19) (14+x7) -2 X2 N 19 ,(14x) -2 X IN 1 9% 1902 99 100 X 09290 1IN Y95 19INa
DOYAPN PRY XN 1270 WIP9 X" NN X = 1 WX X 18N DN N99on UKD
qON) MR M DY X DB TY 19990 X" YW MINN 92 By XYY D0TPnY 1 9% NN
35,00V DYPYNT n DY MPITNN 19010 NN X DY OTPRN cTIYN 0INANnYo WN j = 1

0. nyow

AND Y TN NS 995 (1H)(1+xXD)(14+x7)-+ 2110722 100 NPNOPX NIDIIN 39 PINY W 1A9¥
199 MYV DMINONN VNIN DY NNY NINAN NYITI 1D

.ianxn =(1+x)A+x>)A+x7)-

MY XU DY OTPHNN AN VDN PR DYTY 0N INYYS YAV n DYAPYI )01
N9 (145, (14x™2),... 798 n+1 -1 DIPHRNN DPIMAY 29 Y ,(1+x)(1+xD)(1+x5)--
A+x)(14) (13- 707 : 19 DX YN NYPANNN 1Y9N9N NN X AN NI 1 AN NI
MNON NYoOna X" YW DTPRN NN X DY OTPNND 1Ay dDn9I190 MPIND 910 NN
TYNRNA D) WA NIND DNV MV OINPIWY RN PO (1+x)(1+)(1+0) - (1+x%)

LONI9N2 IONDY N TN

SIN.DPIN-X DYPONY n 5YW MPIDNT 1901 b, 07 $6.3.20 NMIYY
D bx"=(lx+x +x + )1+ x7 x0T+ )1+ XX )

n=0
: PN VY NNAN N29217 NN NN :HANNMIN

A+ +x A X0+ + )+ X P )



271 ;NP NPNPNS

N, (1+X+X7+X7 +..) NWUNRIN 0NN 0923000 TN SY 7PN Yapnn 7200 95
X2 AN PUNAN A xE AN pnaw o anon 191 (X +x8 +x7 +.) wn onn

MPINN VA X" YWY DTPNRY NN NN NPNIM ,NNIN 721 Swbwn Mva X8 nwn 1va
1119 NN NPDNN NRIRNN N NINAT (0 -2 10ONON MPIND ,1019)

=1+ +1+34+  +3+5+. +5+...
h = L)

SY OTPNRN 1991 ,Y7PN NARNNN 1T (DY XPIT IND) OPA-IN DPOND n W NPIon >N
[0 .myvn NNDIN 723 .0MNIF-IN DYPINY 1YY MPIvNn 990Ny NNY x°

LA9NIN LAY NNDIN NN OMOD DDID PNIX NYD

99 19NN 19 ©WY 195V a, = by, -¥ NYD NYON :6.3.17 VAYN HNSN YN

1
I+x+x*+x°+... = —
1-x

1
1+x>+x°+x"+... = .
1-x

1
I+ +x“+x" +... = .
1-x

,6.3.20 MYV %Y )b
1 1

-]
n=0

T 1-x 1-%X° 1-x
3D MIOIND 3T 6.3.19 MYV YINIW YT DY NN

1 1 1

—X-l—X3 1-x

e

.ian =(1+x)A+x)A+x)--= 1

n=0

:INDY PN NN NN

2 R _ 0 8
(4004 )1+ ) - (I xye i 1o Ioxs Tox

—X 1—X2-1—X3 1-x*

DMVYXAN DY DMI¥NLIN 1-x7 TN ONON (1) (1-x5) = (1-x7) MM VYHPNYN IND
,AMY Y9N DYINWYI MR-N L IURD 1-x' DIDINN P ,NI9N3 DIIRNIND



POy MNXNON PINS 272

1 1 1

—x 1-%° 1-x

(1+)+x)A+xY) - +x)- =

5...

MIYN2 IONIY 10D IOT YA, NID JI9IN I 2IWONN NN YXIAY N TY 1YW PYN BN
DTPNRNY T2 JY NOHNON NV NIXINN NNIINT NN .6.3.19 MYV NNDIN N1IAPY2
AUND (1+x) AN DRIV T DY 97 BYYa ¥apy (1+x)(1+x)(1+x0)-+ N99ona X" v

Oj<n

9901 ZY MPIZNN 99017 NN NNON PN ,MPIZN SW NITHINN NILYI GX JYY DPOT Y
VTD 7 999 INT) Y 1902 7O I XD TN, MPIONN 1901 NPVIVINION NINNDN ¥ .n
LOWANON DI A¥P AN

oYnIn

Y9917 YN a -2 OMP DXNY INIDIN 2N 1N a 7, 1x NN AN 0y I (R+,) 7 .1
PV ab; = bi-a = 1 -¥ 75 ,bi.b,€R DN MY DINDM»P DY ININ I . PNY XN IN
.b1 = b2 N ,a'bz = b2-a = lR

N290Y 99N 7D 0 TOYAN NN NDIZ 10 K, 0DYN 9953 W n TINRD O9WN Nnd 2

MY N N2 MAPW NPNIN NY YD ONX 5PN o0 {1, 1} 27KD APNING 1YNAN
NN MIYNIN MXNY 75,0 TN W 57PPIN 0950 NN XI¥NY 15 OX NN 71PN
YA 5T DYD D©IWIN PNIN T I900N 5Y) a(n) -2 NN 900N NN OO MY oY
{a(n) -2 M1VY22 92100 YA NIM
1(r=1)"7 NI NPPIND D010 9901 73 INN N
SY NOINDN NPAPNN NN NNIND NOYNONI NDONNAN 1 TN PPN NI DY .2

122 . INYRAN NIRNND ANY XPNT ININND NIND NAY n—1 TN PPN 1D

:TINAT NOIN NNON NYAPNN

a(2)=0
n>2939 am) = r(r—1)"> - a(n-1)

.1131203 19N NNDNN Y111 1772010

.a(n) -9 Y9N NI INYDI NPOIN NNON NXIINS A

MPINONOFEG Y 3
A(F-G)'=F-G+F-G' :n%950 5 7719 1NoHN AX NN N
DI MPIN PV HY NIINN NN KION NITINL WHNYN : 1277

F) F.G-F-G'
E :T SR OYY NIDID DNONN AN NN A

1
.G 5V 9101 XN e Mom R[x] -2 o0 1208 G 180



273 MNP NPNPND

F
5y MH9o) SY NTIND INOVN NN 1Y ’H:E MON AN IPTHIN NN
GH=F

© n k
Z( jx“ = X—k“ :0OPNNOYI0 k> 05575100 4
n=0 k (1 - X)

TN IWRNYM K DY MINPITING NG INIIN : 17T

-k (k+n-1
MPINN 9702 OMNTPHR ANV T DY =(-1) D NOM 5
n n
DINNNDN
1
- =

I-x nes

= Zx“ IN DN DMYIVN DMI90NN T2 NNIAP XN S ORI ININ 4

SMPIN NV NWIDY YW NI am .7
(Z%an . (Z ﬂnxnj'(ZVanj = Zaan
n=0 n=0 n=0 n=0
mp»pnn i, j, k mwbun 55 %9 5y NN D1DYN IWND ,a, :Z“i By 2 mom

i+j+k=n

INYD . DPPHY-IN DINOY ©TPn 0Y FiLF,. ... 0999719 MIPin 010 NI0PN o) .8

A m [ [E nbaonnw 159 90m 90150 m8n

i=1

MY a; DX 9070 NPWNNY DX n2Y pYvna 2 a =2 ... z2a =1 7Pn .9
7901 XN a3 ,2 < DNV a; -N 19912 MW a, ,a; = k 9ONT) 1 < 0NY a; -n 1901°
:n =25 5Y NP10R0 NPIDN MIN ,oWND .ANDN Y, 3 < DNY a;-N
.31=8,az=5,a3=4,a4=3,a5=2,aé=a7=ag=1
DYPOND n W MPWYNN 19022 NNY n DY NHPIVDON MPIVNN 19DIY ,n 935 NN
.OMY OINI-IN
NN NPXPNN WINIY T DY NI YHN NHRRNN YT DY NPY NN AR : 127370

NPINOON MIAYN

2 NNX 7PN .(1887-1920 ¥191) Srinivasa Aiyangar Ramanujan JN/)13149 933N 1090
790N NN NP NI 15 92 INYN2 .NpYvnnnn MIIN1 019 022112 MPOIND NMINTN
George INP 17 5w Synopsis of Elementary Results in Pure and Applied Mathematics



PO MRXNON PINS 274

DY0OYN NDINT NNY NIPY DO 1901 NNV NPPVHNN XY NN T NN .Carr
ND 1Y MIXINT MOWNN PN PN L1856 -1 DD T9DNY NIOHD OOIN INNYL DWIN
ODYHN NIMIWIN TAXD INANNDT X OINIT 029 JNRANNT ININ XIP 12V 25Wa NNSTIVH
NI MY DY NPPVNRNNAN AT PN TPAY DTN NINND .NPPVRNHRT NITIIN 51 INPa
JNXY NINIHA 00 B9 DYDY WInD NYYNN

NN YYTPN NINY 1120 ,07NX TIY 1300 NNPDI NIZNN D2IN,ADIPT Mion 520p NIN 1903 -1
PN PYNRN NI DN MY DINYDN N DN MR APY0RNND YTIOD Yo
.DDY9NNY DNNM VY PYNIN I0NKDD NN DDIY NN 1911 -2 9V Y1 SN NPdvRnnn
AN 2 oYY ,Godfrey Hardy 79NN 9970 ODINN ONPYORNNN DY ANonn2 Shn XN
ODIN,IWITY 92D MINSINTD PINY INDNNTT MY YTIND NN KINY DX0IWNM MINNIND
-2 TPONIND INANNT NN NAND YTIND NINT NNT NMAPYL .NIMMIYNI NMYTN O) )1 ¥
NTI MNAY TPV IRDNNDT gNIVNA IPNNL INX TYANDY A21P SV TINDD >T1d 1914
NN 10 MYP NN NPYIN D10 NIN WI5NYN 9102 OIN WD) OXD 1129 vadnn
MY 912Y0 OV AN ITIND 930 XN 1919 -2 . PNNN

02V APLPLN APEPND 090NN NN PN OMPDHY TV INANVKIY OOINYDIN Pa
DIY9N 5231 DOIN .DMANOPN DNV MY FPNPNY  NPIVRINMIPN MITO ,021WN
NP NIVTN PNITIAY P .OPNY NN XINY DX0IWNNIN PoN 1PN INYIWN1 0THN
D09 NI YTIND OY TN .0 1901 5 MIPIZNN 19010 XINY ,p(1) 19000 JY PIPNHN OMINN
DINNI WY ININNIY DVIYNNN 029 .p(n) DY SVIVIION VPP INNNT IDND
111 INXD 012030 INDIN DINN OININNAY NMIPIDNND

PNV : NI DON VI POY NNDNN MOITPIND P .97 2N W1 PIONT IR
9901 JNANINIT YTIND TN INIID IIPAY YTIND NI ,MIININI DIN 17722 12N NN/
I ANANINT YN MITIND NIV NOP 1DRywn 1990 ,1729 XN ININ INIANY 1NN DY
JINY RPYISY MIPIN DY DD DMV DNAIN NYA NNNY MY NP JOPN 190070
A2+ 1P =1728 + 1 = 1729 o0 ,10° + 9° = 1000 + 729 = 1729



